@ Calcule sans poser I'opération.

a.123,6:100=.... e.984:100=....
b.986,2:100=.... £ 139%:100—....
c. 10834:-100-.... g.1,97:100=....
d.2890,5:100=.... h.0,67 :100=....

m Arthur veut partager une baguette de bois me-
surant 256,5 cm en 100 petits morceaux. Chaque
morceau mesurera .... Cm.

@ Calcule sans poser I'opération.

a.9000:1000=.... e.1231:1000=:,
b.72000:1000=.... f. 987:1000=....
€355000:1000=.... g£.72:1000=....
d.22800:1000=.... h.197:1000=....

@ Calcule sans poser I'opération.

a.94537:1000=.... €.1087,60:1000=....
. /920 1000=....  £:679:10080<....
¢. 1598308:1000=.... g.9,3:1000=....

d.852,9:1000=.... h.54,98:1000=....



